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20 + 1
You're given f(x)= . You have to find the equation of the tangent line at (1,1)
T +
d d
(x+2) - —(2c+1) — (20 + 1) - —(x+ 2)
dax dax
1) Find the derivative using the quotient rule: f'(x)=

(z+2)°

(z+2)-(2) — (2c+1)(1)

la) take the derivatives =

2
(x+2)
2c+ 4 —2x — 1
1b)distribute = —2
(z+2)
3
1c) simplify -
(z+2)
3 3 3 1 1
2) Evaluate this at x=1: j'(l):—2=—2=—=—=—
(1+2) g? 33 3 3
3) Write the equation of the tangent:
1
y-1=—(x - 1) setup
3
1 1 1
y-l=—x — — distribute the —
3 3 3
1 1
y=—x - — + 1 add 1 to both sides
3 3
1 1 3 3
Yy=—cT - — + — rewrite 1 as —
3 3 3
1 2
y=—x + —

3 3



